Geometry R Name

WS 4.9 Overlapping Triangles Date Period

EXERCISES
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Ex. 1 Ex. 2 Ex.3

1. Given: AFEC,DC = BA, DF = BE, CE = AF.

Prove: NAEB =, ACE_Q. o
2. Given: AEFB,CE = DF, /1 = /2, AE = BF.
~ Prove: AAFD = ABEC. .
3. Given: SXR, SYT, SX = 57, Yr
Prove: ARSY = ATSX.
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4. Given: DA = CB, DA L E, CB 1 AB.
Prove: ADAB = ACBA.

5. Given: AFEC, AF = EC, /3 = /4, /1 = /2.
Prove: AABE = ACDF.

6. Given: AB L BF,CD | BF, BD = FE, /1 = /2.
Prove: NABE = ACDF.
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7. Given: LP L PN, MN 1 PN, LP = MN, PR = NS, PRSN.
Prove: ALPS = AMNR. L o
8. Given: ZBAC = ZBCA, CD bisects Z/BCA, AE bisects ZBAC.

Prove:
. Given:
Prove:

DADC = ACEA. _
TR = TS, MR = NS.
ARTN = ASTM.
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10. Given: AB = DB, LA = /D, ZDBA = ZCBE.
Prove: NABE = ADBC.
11. Given: DA = EC, DC = EA.

Prove: a. ACAD = AACE. b. Z/DCA = LEAC.
12. Given: DA L AB, CB 1L AB, AD = BC.
Prove: a. ADAB = ACBA. b.AC = BD
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13. Given: ADB, BEC, BD = BE, DA = EC.

Prove: a. ADBC = AEBA. b. LA = ZC.
14. Given: ADEB, AC = BC CE = CD, AE = BD.
Prove: a. ANACE = ABCD. b. Z1 = £2.

15. If RT = ST and median RB = median SA, prove that ZRAS = ZSBR.
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16. Given BFA . CFD, LECF = /CFA, CF = FD, and CE = FB, prove that EF = BD.
17. Given ADB, BEC, BD = BE, and DA = EC, prove that £1 = £2.

18. If AC and BD intersect at E, ZD = ZC, M is the midpoint of DC, and £1 = £2, prove that
DB = CA.

In 2023, select the numeral preceding the choice that best completes the statement.

20. It can be proved that ZYWX = ZZXW if it is known that

(1) ZW =YX 2) YW= YX ZY
3) PW = PX 4 PW = ,\
21. If AZPW = AYPX, it can be proved that
(1) AZPW is isosceles (2) AYPX is isosceles w X
(3) APWX is isosceles (4) AYWX is isosceles Ex. 20-21
C
22. If AB = AC, it can be proved that CD = BE if it is also known that E
(1) L1 = Z2 2) L3 = /4
(3) £3 = 45 (4) L4 = L6 AF
23. If £3 = /4, it can be proved that EC = DB if it is also know that D
(N CF = BF (2) CD = BE Np

(3) CA = BA (4) EA = DA



